TEHIICE T2 EDHRSREDAERR (BE1E)

ER27F9 RBIESD

JAlE 8 I 7E B P #YE (u Sv/h)
10 FRHiORF - 0.07
T3 0.06
FHIOBF 0.07
2H SYDLEN
T3 0.08
P - 0.06
3H ZYDL
T3 0.07
FHIOBF 0.05
48 YD
T3 0.06
55 FHIOBF Eh 0.07
1430 0.06
P _ 0.06
68 EUDLM
1% 30% 0.06
P _ 0.06
7H EY—HFW
1230 0.05
8 FHIOBF = 0.08
R 53R \ 0.07
o THIOK: = 0.06
R 53R \ 0.07
108 THIOKE = 0.07
R 53R \ 0.07
g FHTORS i 0.07
R 53R 0.06
28 FHIORE o 0.07
R 53R 0.06
(an FHIORE =y 0.06
F %30 = 0.07
aE FHIORE =y 0.07
R 53R 0.07
. FHIORE o 0.07
R 53R 0.06




TEHIICE T2 EDHRSREDAERR (BE1E)

ER27F9 RBIESD

JAlE 8 I 7E B P #YE (u Sv/h)
16m FHIOHF =y 0.07
1430 - 0.07
178 FHIOBF = 0.06
1% 30F 0.06
188 B P — 0.07
1% 30F 0.06
19m FHIOBF - 0.07
1% 30F 0.08
208 FHIOBF . 0.06
1430 0.07
oie FEOR 2 005
F %30 = 0.06
. FHTORS . 0.07
1230 0.06
var FHT0B o 006
F 430 = 0.06
. THIOK: - 0.05
R 53R - 0.05
255 THIOKE - 0.07
R 53R - 0.07
vor FRIOR = 007
F %30 = 0.06
- FHIORS — 0.06
F 438 0.07
. FHORS . 0.06
F 438 0.05
bor FHORS . 0.06
F 438 0.07
som FHIOBS . 0.07
F 438 0.08




